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In a short essay, discuss the difference between well-structured and ill-structured problems.
Include specific examples of each type of problem to support your answer. Next, discuss the
type of decisions that would be used to address each of these problems.(10 57)
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Sondra needed help. Her insurance company’s rapid growth was necessitating making some
changes, but what changes? Should they add to the existing information system or should they buy
a new system? She was given the responsibility of analyzing the company’s present information
system and deciding what the company should do that would give them plenty of room. She was
confused and needed help in making the correct decision.

1. According to the decision-making process, the first step Sondra should take is to

analyze alternative solutions

evaluate her decision’s effectiveness
identify the problem
2. According to the decision-making process, the second step Sondra should take is to

a
b. identify decision criteria
C
d

analyze alternative solutions

a
b. identify decision criteria
c evaluate her decision’s effectiveness
d allocate weights to the criteria

3. Allocating weights to the criteria is the step in the decision-making process that occurs between

identifying the decision criteria and

a. developing the alternatives
b selecting alternatives
C. implementing the alternative
d identifying the problem
4. When Sondra conveys her decision to those affected and gets their commitment to it, she is
performing which step in the decision-making process?
a. analyzing alternative solutions
b.  selecting alternatives
C. implementing the alternative
d. identifying the problem
5. The very last step Sondra should take, according to the decision-making process, is to

analyze alternative solutions
select alternatives
implement the alternative
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evaluate the decision’s effectiveness
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Eric has a wide variety of employees he is trying to lead. Everything from age to experience to
enthusiasm varies within his staff. Some employees need a lot of direction, and just the other day he
upset one of the older, experienced workers, Hazel, by trying to help too much. After all, she
probably does know the job better than he did, and she is a very willing and capable worker. She
has worked at her job for 20 years. Yet Eric was only trying to be helpful, and he was trying to
compensate for the day before when he had not told Joe enough. Joe is a very enthusiastic new
employee, but he has very little experience. Joe needed the roles defined and specific information
on how to do some tasks. Hank, on the other hand, likes to share in decision-making, so Eric’s main
role in interacting with Hank is that of communication and facilitation. Eric has chosen to apply
Hersey and Blanchard's Situational Leadership® theory.

1.

According to Hersey and Blanchard, Eric probably needs to focus more on which variable?

a. motivation

b. follower readiness

C. the situation

d. leadership preference

According to Hersey and Blanchard, which leadership style would probably work best with
Hazel?

a. telling

b.  selling

C. participating
d.  delegating

According to Hersey and Blanchard, which leadership style would probably work best with Joe?
a. telling

b.  selling
C. participating
d.  delegating

According to Hersey and Blanchard, which leadership style would probably work best with
Hank?

a. telling

b.  selling

C. participating

d.  delegating

By now Eric is beginning to see that when followers are __ |, as a manager he does not need
to do much.

a. well trained

b able and willing
C. motivated

d task-oriented
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